Alg II CC:  Worksheet 



Name _____________________________Pd.____

Confidence & Critical Values for z and t 
Should you use a normal distribution or a t-distribution to construct a 95% confidence interval for the mean? Explain your answer.

1. In a mean sample of 70 bolts, the mean length was 1.25 inches and the standard deviation was 0.01 inches.

2. You took a random sample of 15 coffee makers and found the mean price was $40.98 and the standard deviation was $10.50. Assume the prices are normally distributed.

3. In a random sample of 19 patients at a hospital’s minor emergency department, the mean waiting time was 23 minutes and the standard deviation was 11. Assume the waiting times are not normally distributed.
Find the critical value, 
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Using the normal distribution, construct the indicated confidence interval for the population mean, 
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9. You work for a consumer repair agency and you want to find the mean repair cost of a washing machine. As part of your study, you randomly select 40 repair costs and find the mean to be $100.00. The sample standard deviation is $17.50. Construct a 95% confidence interval for the population mean.

Find the critical value, 
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, necessary to form a confidence interval for the given level of confidence and sample size n.
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Using the t-distribution, construct the indicated confidence interval for the population mean, 
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15. In a random sample of 5 microwave ovens, the mean repair cost was $75.00 and the standard deviation was $12.50. Construct a 95% confidence interval for the population mean.  
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